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QUESTION 1

What are the benefits of using Federation?

Note: There are 2 correct answers to this question.

A. It reduces the number of objects in multiple systems across geographical sites.

B. It enables a consistent rights policy across multiple offices for global organizations.

C. It provides real-time information on user activities, system KPIs, recent alerts, and watches.
D. It obtains information faster by processing reports at remote sites where data resides.

Correct Answer: BD

QUESTION 2

A user wants to create Web Intelligence documents. However, the necessary option is not available on the Bl launch
pad.

What could be the reason?

A. The user does not have rights to use the Universe connection.

B. The object level security in the Universe is not set to the appropriate level.
C. The user does not have rights to use the Universe.

D. The user does not have rights to use the Web Intelligence application.

Correct Answer: D

QUESTION 3

What can you do to increase the capacity for processing on-demand report viewing requests for Crystal Reports
objects?

A. Organize existing Crystal Reports servers into a single server group.

B. Deploy the Crystal Report Cache Server closer to the reporting data source.
C. Deploy the Output File Repository Server closer to the reporting data source.
D. Increase the number of Crystal Reports Processing Servers.

Correct Answer: D

QUESTION 4
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Which tasks does the Crystal Reports Cache Server perform? Note: There are 2 correct answers to this question.
A. Store .EPF files.

B. Store .ETF files.

C. Generate .ETF files.

D. Generate .EPF files.

Correct Answer: AB

QUESTION 5

How does the system behave if you have an Idle Connection Timeout setting on the Crystal Reports Cache Server that
differs from the setting on the Crystal Reports Processing Server?

A. If the setting on the Cache Server is higher than on the Processing Server, this will cause excessive consumption of
disk space.

B. If the setting on the Cache Server is lower than on the Processing Server, a user request could be closed
prematurely.

C. If the setting on the Cache Server is higher than on the Processing Server, this could cause a memory overflow
error.

D. If the setting on the Cache Server is lower than on the Processing Server, the data source connection
could be closed prematurely.

Correct Answer: B
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